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1)

2)

3)

N

A point outside (fo the right of) of production possibilities boundary of a
nation:

(A) isnot attainable for the nation

(B) will shift production possibilities boundary outward

(C) implies that there are unemployed resources in the nation

Gj) implies that the nation is using its resources efficiently

20T ca@cs NTITT TS Tedod (WOLPNT) WO 88 BENTTI
ARWROST.

(A) ©OT, LWITTD A8

(B) wwevdae mE3 Sesdod BRTF, BYLMHITI

(C) w¥3dcinna RoTIRONY YUDFODY, ARSI

(D) RoTSRLNY B wIEoDh, B3

The price elasticity of demand is a measure of the:

(A) Steepness or slope of a demand curve

(B) Absolute change in quantity demanded and price

(C) Responsiveness of quantity demanded to a change in price

(D) Sensitivity of the quantity demanded for one good to a change in the
price of another good

XS e ASTTTZY FYNIBI, PN,
(A) BeBF Tedod YOI 6B
(B) Ze@d Ho[mre I BSNYIS ATBeg wBenmH

(C) BSOS wBRIBA BBoIRA Hedd TRWHOTIT WBOOBE

(D) o AT BSoRIS wBRTHR TSN BROD FTES We@d
TRPRDIT WBREED

Average revenue curve is also known as

(A) Demand curve (B) Priceline

(C) Both (A) and (B) (D) None of the above
NTDFO SO TeBoD, Lenp FBoDTT

(A) BeRE Bess (B) 3¢3 Bess

(C) (A)== (B) 20BR (D) cRPTRe vy
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4)

)

6)

7)

The consumer will attain maximum satisfaction at a point under indifference
curve analysis when

Rooaes, B30e8 DFERBODY  OBLLENOLD o3RN TOF B ROZ,
BROTTIVOTT

(A) MRS yy = Px/Py (B) MRS xy = Px/Py

(C) MRS xy = Py/Px (D) MRTS = Px/Py

Cournot model is one of the oldest models of

(A) Monopoly (B) Duopoly

(C) Oligopoly (D) None of the above
FTEEF RPBO H IFT BPRFEONY ©8 BEOD BPWONTY WO
(A) QB WY B) o PPV ‘
(C) 3oxT A (D) o3BT 9

All the combinations of two products will yield the same total utility to a
consumer are reflected in:

(A) the budget line

(B) an indifference curve

(C) the marginal rate of substitution

(D) the position of consumer equilibrium

QOB TTRNY RS, ROCSREBIND 2.2 DLBRENTR BT AT B0
DOQBTIMFY T

(A) swcd Bess (B) Booaed, Besd
(C) 2ex208 B TT (D) ©eeNod Fhdrews WO

At what point does marginal product equal to average product?
(A) where average product is equal to its maximum value

(B) where average product is equal to its minimum value

(C) where marginal product is equal to its minimum value

(D) where marginal product is equal to its maximum value
20WI03 emggil B [TORO emggl DRRTNDNE ROTLE
(A) RCORD YBID) ROFTONTOB

(B) =0om0 @3 ﬁébagmﬁdagd

(C) 235008 ASBID) %E’b%mﬁdogjnd

(D) 2008 YVBTVED) ﬁaagmﬁdagd

(P.T.0.)
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8) Competitive firms are assumed to:
(A) advertise
(B) be price takers
(C) sell where marginal cost is minimized
(D) confront demand curve that are perfectly inelastic

NmFéﬁ FLTNG WNNS WD 0BT

(A) zso&;eova‘)
(B) HS0h, Aez0R0eE

(©) ,%emaoé ﬁzg BAFRWDY PTES FIEIT
(D) BeBF Te3odn mOTRIE @RS m@aﬂémﬁd\,gd

9) Optimum factor combination is also known as.

(A) least cost combination (B) leastutility

(C) maximum cost combination (D) none of the above

STIE WIRTTVONNY BOCIREIFONT, &ene FBODWTOW

(A) 3 & Boodwess (B) 3 2dyoeo

(C) nogy [e3 Bocdeews D) Feds cIRPTR BY
10) Consumer is in equilibrium when

(A) Total utility is maximum (B) Marginal utility is zero

(C) Both (A)and (B) (D) None of the above

OIRERENCIY FBREVTBY odwen TS 20T
(A) 280 S00eD NOFONTORTD

(B) 263008 Boayrbesy) AesciRADRT

(C) (A) DD (B) 20>

(D) 3ed8 cIPD ©©

11) The three approaches to measure national income are
(A) Cost, income and flow of funds approaches
(B) Product, income and expenditure approaches
(C) Consumer, business and government approaches
(D) Public, private and community approaches
COKREOD STRCNTJIW), WRTI [P D AFINTOTI
(A) 53?3 Sanlevy aba’a VRNY TOXT AT
(B) mrg’ﬁl, (S{aploww ma’_ac N AR
(C) oBReN BITOT D) AFFTT FTIIND
(D) MRXEHAT, 003N DB FORDWONT FOIND
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12) The study of inflation is a part of

(A) Microeconomics (B) Macroeconomics

(C) Normative economics (D) Welfare economics
BEOTYTT VTPONTR) &3 3ENT 03w T30 TR DTWOPTINT?
(A) fmﬁ @GSFEDN (B) ==, @ajﬂson:

©) Noma’s @cﬁs‘m,u (D) Zexsmegmod @GSFERW

13) Macroeconomics deals with
(A) The behavior of firms
(B) Activities of individual units
(C) Aggregates and averages
(D) The performance of an industrial plant
83 3PNT 030 DWORNAYI, RN, WFF IR WERROBTY
(A) Tudne IS 5¢
(B) B3es 0B FIING WdTITND
(C) =on, BN NI, ATIRONEO
(D) VTS 30T PETH TVORE BT

14) According to classical model, the level of employment is determined by the

level of

(A) Wages and Prices (B) Income and Expenditure

(C) Public Investment (D) Rational Expectations
ToTEIoH TOFW TFC B IINT 03NT BONYOT WRRENT 8
QGOF Te3dBHY?

(A) 3RINH P BSNWH (B) swocdh ) 5%

(C) =BT TR (D) O30T DR

15) Aggregate supply is the total of
(A) All goods and services produced by the public sector
(B) All goods and services produced by manufacturing sector
(C) All goods and services produced in the economy
(D) All factors of production supplied to manufacturing sector
"R, WRYE 20T
(A) mamz’aﬁ TOODF) WTVOWT QTP ATB W) REWNE 2ot TRIED
(B) 023mEs WOODY) m@g@,\oa D) Ndﬁa ) Zedng 283, wa’mz‘a
(C) SRFI30ED YTOMN QTP ITB XeINT 2 Tpoee
(D) 02T SOODT, BRTFHIRT AT SUTITIOONNY 2t TF[I0ED

(P.T.0.)
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16) According to Keynes, the level of employment is determined by
(A) Effective demand
(B) Money stock and liquidity preference
(C) Aggregate supply
(D) Inflationrate ,
3e°0RT TFT WBRER BLT AT THNLD ‘-
(A) TOFoTO WeRd (B) @eed &n8 D) TRBROF
(C) m=on @eds (D) =eheod ©d
17) Monetary policy is implemented by
(A) Central Monetary Authority
(B) Department of Economic Affairs
(C) Commerce Ministry
(D) Finance Commission
33 FYNT OSRT BLATORD QeS0NTY, WORRVAZTVT?
(A) BeoRod JeeFRL TWRTT (B) s&F3 a0
(C) =oedes, awosd (D) meomomd scdeen

18) Which of the following leads to cost-push inflation?
(A) Anincrease in government spending
(B) An increase in exports
(C) Anincrease in nominal wages
(D) Anincrease in liquidity
3 FPNT O3RN ©o3F) ﬁz;ﬂ 39T TR T, TTEOTONT?
(A) mTFRIT BBTII B3¢ (B) omneds =u¢
(C) =eedn BRINYYS e D) TRSBDIS >

19) Which of the following could be a reason for unemployment?
(A) Lack of'skills and training
(B) Excessive government spending
(C) Existence of child labour
(D) Excessive money supply in the economy
33 3YNT 0D ©O3R) @d)df%@ﬁ% TO0LOONT?
(A) Py, W) IoBedoH ERTI
(B) 08 0e0T moTERIT [
(C) ©POBNETT VAT
(D) s0F330hY NENOT BeaT RS
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20) The length of a business cycle would be measured from
(A) Peak to trough (B) Trough to peak
(C) Peak to peak (D) Slump to expansion
O STBEIT TR, JeRt ©LCINTYT?
(A) WIREOOT DAY (B) DRBOOT SOIHE
(C) IRFOOT YVIRE \ (D) &O0OBHOT DITH
21) IfA=1{2,4,6,8,9} and B={6,7, 8, 10, 11} then ANB is
IfA={2,4,6,8,9} @3 B={6,7,8, 10, 11} risd 0w neorienss, ANB o
(A) {6,8; B) {6,7}
©€) {8,9} D) {4,7,8}
22) Given the following data set, what is the value of Median? (2 5 3 8 9 6)
BREST0S TB0TE, T L3S cIFHT? (2 53 8 9 6)
(A) 5.5 (B) 6.5
€ 5 D) 6
23) Census report is
(A) primary data (B) secondary data
(C) qualitative data (D) quantitative data
BINESCH WTHAD
(A) TRFENT TBWOZ (B) ©b&ONT T30
(C) Mgz 35903 (D) =oRwmo33s T2003
24) The derivative of a function represents
(A) Annual change (B) Average change
(C) Rate of change (D) Percentage change
2,00 0OWIT DFG DI, RRWROBLIOTT
(A) AT WBUDE (B) XToxd WHREEH
(C) wBwowm WO (D) 3e3BeD WTBORRE
25) Givenaverage revenue function, R =100q—4q? the marginal revenue function is:
3RL0BD [ooRD &T00D Wowd, R=100q—4¢S 2eRI03 ST00HN DOWT
03RR)TNY?
(A) 100q-—4q* (B) 100-28q
(C) 100 —4q (D) 100 — 8¢
(P.T.0.)
MA-9010 [7]




26) Pradhan Mantri Ujjwala Yojana (PMUY): PMUY was launched in May 2016,
for providing
(A) Electrification (B) Irrigation :
(C) LPG connections (D) Solar connections
TEOT WW0E WY deemIon, Me 2016 BY B TYNT CTRPYTBI,
WTNEED  TWTOYREONTS :
(A) QWNCeTTED (B) Qcood
(C) acF XoTJse (D) =T moJse

27) As per the Fourth Advance Estimates for 2016-17 released by Department of
Agriculture, Cooperation and Farmer’s Welfare, the country achieved a record
production of food grains estimated at
(A) 275.7 million tones (B) 254.7 million tones
(C) 257.7 million tones (D) 278.7 million tones
T ABT0 W) GFT FCRLe AeRBNY 2016-17 43¢ B0I0008E BFeT,
33T T30 DO, YVTVTI 0TV

(A) 2757 ©303RINH (B) 254.7 mZozRI N
(C) 2577 BFOTLI AW (D) 2787 B3OTLI MWD
28) stands first place in India’s imports

(A) Petroleum Oil and Lubricants

(B) Capital goods

(C) Gemsand Jewellery

(D) Chemicals and related products

RO SHDRNYY ReTOIe MIBEIHFI
(A) SLpedodo

(B) 20z@E=0¢ 3TN

(C) ==Y D) 8ITnRD

(D) TomochT XOWOR WA

29) Goods and Services Tax (GST) was launched on

(A) Junel,2017 (B) January 1,2018

(C) July1,2017 (D) July 15,2017

AOB & Hewo FOROIN 2390CIRTTD '

(A) =es 1, 2017 (B) =z=0 1, 2018

(C) =8, 1, 2017 D) =, 15, 2017
MA-9010 [8]
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30)

31)

32)

33)

Which of the following policy is prepared by RBI?

(A) Fiscal (B) Monetary
(C) Agriculture (D) Industry
RBI &3 3$NT 030 Qe300 e Yol i Ia )

(A) oaa%%meﬂ (B) et
©) 3 (D) ﬁdmaﬁ

The process of selecting from alternative long term investment projects is
called

(A) Net cash inflow maximization (B) Capital budgeting

(C) Discounting cash inflows (D) Capital ratiorﬁng
oa;séé’bdaa Gepleny DeRFRQ Bt SOHNTI, VT TFOHOPI, &en
380303

(A) AB$ INH B0 NOFRRIAZT (B) 200T@z0¢ SODTOD
(C) 3R3RALAT IND WITOY (D) 20TWE JRST

Economic profit includes

(A) Explicit costs (B) Implicit costs

(C) Both (A)and (B) (D) None of the above
SOFS COPFR) IINIRNTS R g{olelz oVt

(A) =3 BN (B) ©03RF3 P[Pniso
(C) (A)=3, (B) 2T (D) eOF R @Y

The space between Total Cost and Total Revenue Curves before breakeven
point indicates?

(A) Area of loss (B) Area of profit

(C) Breakeven point (D) Both (A)and (B)
BROBET DOTPAN0T VBRTLD 2.3, [, WS 23 30003 BeBne IERD
03TV, BRWAZT

(A) B, BEIQRIS B) oopnD, TEIORIS
(C) ooy S C&3 VO D) (A)3 (B) 0@
T.0.
MA-9010 [0 Sy



34)

[f only fixed cost of a firm increases the Break even production will
(A) Increase (B) Decrease
(C) Remain constant (D) Allthe above

200D FIBT3Y Nd d?ﬁ EASDIC] éaseéammri O P ﬁcﬁ J&3 YUTOTID
wESGDEE)ﬁﬁD :

(A) SLRIT (B) sRIRe9RI3
(©) ﬁgpdmﬂdagd (D) I3 e
35) A project should be accepted if NPV is
(A) Negative (B) Zero
(C) Positive (D) Both (A) and (B)
2,08 3033REITODT, 2T3eFITT T TR 333’905@.
(A) 9350 FRNTLER (B) ZoZeendiden
(C) FzmRNTLWeR D) (A)=) (B) 2T
36) According to Karlmarx introduction of labour saving devices results in
(A) Class war (B) Surplusvalue
(C) Industrial reserve army (D) None of the above
ROFRRTE TR0 I Y09TIOD MFINYRY, WISBRPTOOT GO
(A) =InF RoTRFE (B) Twp@0 &P,
(C) 3mds Memen Xed (D) 2edT cdoPod ©Y
37) In Leibenstein’s theory ‘shocks’ refers to
(A) income depressing forces (B) income generating forces
(C) both (A) and (B) (D) none of the above
ORI AL TRT %crgpoécﬂcpq ©95703° YVOLD WIVEE WOS[OTT.
(A) STROD DNAE LIBNWD (B) ©woodh PBROBT 23BN
©) (A)= (B) o (D) BedT TP ©Y
MA-9010 [10]




38) J.A. Schumpeter’s book
(A) Theories of Economic growth and Development
(B) Economic development: problems principles and policies
(C) Towards a dynamic Economics
(D) Theory of Economic Development
.. aioomasdaﬁd now
(A) @o:b@e BT QTINT RGP BT BIOT W0’
(B) 23TONET FIST RO’ TRRST, ARV, B D TR
(C) tTTT, » FNNT, AEDNT
(D) BODOE BF VIIVNET BRIOT' RO’

39) There are 17 Sustainable Development Goals which have
(A) 169 targets to be achieved by 2030
(B) 179 targets to be achieved by 2030
(C) 119 targets to be achieved by 2030
(D) 130 targets to be achieved by 2030
,\o%d SIADN @odo@ 17 zﬁeodm@cdo £9%)
(A) 169 be)ﬁeéab 2030 O Fedrt FPRLCTHZT
B) 179 momsm 2030 T Sesn w@ﬁaﬂew\oéd
(©) 119 ﬁ)@ﬁeéd) 2030 T SBedn FORLeTNBH
(D) 130 maﬁt’éz& 2030 S e m@*aﬂew’oécﬂ

40) Human development means

(A) Enlarging Choices (B) Having education and health
(C) Standard of Living (D) Allthe above
ST ORRY, 0BT '
(A) soRT, QRTRRPRITYTO (B) &%eo & SieTolst BROTDYTD
(C) 283D 08 (D) eOT dYTP
41) What is Advalorem tax?
(A) Tax on advertisements (B) Tax on the value of goods
(C) Tax on the volume of goods (D) Tax on travel
wi‘ae)éa@s'é 301 0TB?
(A) 20%c0083 eI 3OR (B) xTB IPOT FedI 3on

(C) BoBre TRmes HedS 307 (D) Hodwed Heds 30K

.T.O.
MA-9010 [11] gL
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42) Income tax is based on the principle of

(A) Ability of pay (B) Willingness to pay
(C) Benefitsreceived (D) Cost of tax colIection_
BST00D 30103 03w 3T, SFPOATW 0TI

(A) P=8oD RO (B) ==& aaﬁw

(C) ozeons AL3 3 (D) 3oR monzd dag

43) Which of the following is proposed in Peacock-Wiseman Theory?

(A) Price effect (B) Income effect

(C) Substitution effect (D) Inspection effect
LT -ZFIT ATROBTY NI CRPYTR, TETRABSRNT

(A) B8 Zomomn (B) ©m000T 0w
(C) wrndIch Tomo (D) Hoezmod BOmR

44) Which of the following is not a source of internal debt?

(A) Commercial Banks (B) Private individuals
(C) Central bank (D) IBRD

83 FIINTPYNYY SRYD 30308 MOT ROBY

(A) =oede, ERDOBONED (B) aan FEnsd
(C) 3Beog WROT D) 2 2 =o° &

45) According to Musgrave, the optimum size of the budget is determined wher
(A) The marginal net benefit is maximum
(B) The marginal net benefit is zero
(C) The Average net benefit is maximum
(D) The Average cost is minimum
AT TFT FODFODT STIE MOEID, VFFORT ©03B[0T3
(A) 2ez=w03 AZY IR nOsgzoNTN
(B) aezw03 AR ODIROF) BRTFONTN
(C) A00A0 ALY B0 NOEoNToem0N
(D) =ooxd daza;@ BRTONTON

MA-9010 [12]




46) Floating exchange rate means

47)

48)

MA-9010 [13]

(A) Currency value is allowed to fluctuate according to the foreign exchange market
(B) Currency value is allowed to fluctuate according to the demand

(C) Currency value is allowed to fluctuate according to the supply

(D) Currency value does not change

Zeenm DT BOROWT

(A) sTCD IPOH) DTS DITOD F[IWTFLR OTOERIN LW TICTONTYT
(B) 3TR0D aﬁaoé@ 23eRBN LIPMIDIN WTRNMITY)TD

(C) 33D IPOD) BB} LORDTOTIN WSRO

(D) 3BREH IPOH) VTOINMROY

The ratio at which one currency is exchanged for another for settlement in two
business days is called.

(A) Spot rate (B) Forward rate
(C) Constant rate (D) Flexiblerate

20T FBI0ID B3RO BB HTE FFHT OINSY BeOowREdF0INPTT,
$ TOBRY, Serford 3ToINTT.

(A) 3¢ TO (B) R0OBRRT BT
(C) 43 o (D) Browesdd o8

An increase in domestic income will cause
(A) The balance of trade to improve

(B) The balance of trade to deteriorate
(C)- The real exchange rate to rise

(D) Domestic investment to fall

Tedeod STRONTIT BB 3UNT 0d0E WOTTRRIT, GOOENTIPRITT.

(A) =290 S SRR RIT (B) @0 oY gez‘ammgd
(C) = DITOD BT BB (D) TWedeod ol BRBRADIT

(P.T.0.)




49) Optimum Currency Areas was developed by?
(A) Adamsmith & Marshall
(B) Ricardo & Robins
(C) J.B.Say & Marshall
(D) Mundell & McKinnon
BRIE IO, T3 @apde)ﬁgp TRATRTI?
(A) sBoyE DB SomEeS (B) omder =3y ORI
€) & 2. Be DD BmFS* (D) =wodeer DB BodTo*

50) Purchasing Power Parity Theory was introduced by

(A) Edgeworth : - . (B) Gustov Cassel
(C) Leontief (D) Dussenberry
BN I8 I3 ATROTTII, VeRTRD 0339307
(A) DBITE (B) nRnes RIS
(C) Ocdnecotsz D) B0

x x X

MA-9010 [14]
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e::z; RENOR BREINY

£..20.850°. VET ToYOD 2037 50 TINED, BROOVT RIeBH [RRT T3,
TOFTDR, amﬁ QETBEONT.
&aésdm “311 TOXTYY, ey Toegn GOl IeBIRRLH WTODF FowORATIE
aomdm 208eDAD.
33, éi?oda VAT, PABCNOT B0 =) T TEFONOT £.20.85T°. V3T
&%»odvab 2007 éﬁm‘o 8.20.650°. T ameu%od:@ waims BE SN, aowa
BRE3TH maaﬁéod;oé ey a’ﬁm*ﬁoﬁod’)s aao’dm?n 302D aw@cncsd am Spcte
asa%ioja a@om*s RPDORTY  &voERMIS bmmﬁ@ﬁ dodouﬁmﬂ Sbedf
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maeﬁoda RCDTY:
2) T3cdeom TF oD, WRZWoT LOd.
b =& 506) wﬁ ae@dad Ty, OF @Q‘brﬂ@@ @303 rsfelovniagl RRBTOT

emsddm PFOA.
c) &ao e:sc‘ TYODIS FowoRAT 30D aaamam FoTpedr TN 300290,
PVTOTTTRNA, T3 wééodbg w§ NOQS 83 “C” N@Qﬁ)d médwﬁdd E)E@/ﬁwa Anlod
ToONOoLF [ mifo 8. 0. eﬁof wa‘d meﬁoda B osﬁ 83 :mocﬁ =] éeéhsoé
B000:
B 088 O @@ O (WeEts 30 (RS TP T BPF evmodeen)
YO0 TRJFATZSOD 200BeSROD, (83 o) T3, TEFoDY &cﬂfhd 009 BRBY
ES:DSde aSaacSaSeﬁa (2.00.65T°. eméd a@%»ocb@ matémdcb)
uoz:b Q0FE TF; TBR 200808 éasb ammdd& RSBRNTT, @03 YOBTIIY,

T, QO wbﬁfﬁwmméd DB ojooajjde @065:53 aecs@am@@@ 2. 20. Q:SU‘
YOI VT TE 3nea.
VZHE D) 38R oeD25TTD QDFITRAT ﬁ@ I3Q) 8..00.80°. TIOD Hees B
m:saﬂesa
@25&):-—0333 ae@oda J03T BB a’be@aaadﬁaﬁ RO £.00.65T°. 3T ToY B
asama@o&d aocbao &o&d:ma:'ieﬁa
@25635—'0633 BB, DITI, :933 £.200.5T°. WZBFOD T TB0HT, ) 203 Srichdeom
meﬂwaﬂam
aao%eﬁeaac‘ e0° DR a&raaio‘ waeafmab wam 2RO Lo DDDEVRHZOY.
OEHFOID DR 355@ a’mzzﬁm@m somuodd 03B OHHEODI), FReE rﬁ
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Note : English version of the instructions is printed on the front cover of this booklet.




